Hﬂﬁ:' ¥ r"’-.l Hﬂ \ Valve Parts -Check valve

RHZ-M-ED
¥ rI.:] ﬁﬂ = % _ - 1
Check valve _j§ * W s
) " _'__4
T 51S08434-1, 24 FEEEER m Complies with ISO8434-1, 24° ferrule connection
B EmRN/ REESE, FTEW ® Commonly available carbon steel/galvanized surface, stainless steel
AR HESRRELE ® Fluororubber sealing ring available
MEIMF R~t AV 184y 52 i) = ShERES
D1 L1 L2 L3 S1 S2 P1 P2 kg/100 Type Product Code
6 265 335 8 17 17 M12x1.5 M10x1 44 RHZOGLMED 0V1210610
285 355 1 19 19 M14x1.5 M12x1.5 58 RHZO8LMED 0V1210812
10 385 455 1 % 20 M16x1.5 M14x1.5 104 RHZ10LMED 0V1211014
1 405 475 1 300 27 M18xL.5 M16x1.5 169 RHZ12LMED 0V1211216
15 45 495 12 2 27 M22x1.5 M18x1.5 174 RHZ15LMED 0V1211518
18 48 555 4 4 36 M26x1.5 M22x1.5 279 RHZ18LMED 0V1211822
2 56 635 16 46 41 M30x2 M26x1.5 459 RHZ22LMED 0V1212226
28 64 715 18 55 50 M36x2 M33x2 721 RHZ28LMED 0V1212833
35 70 805 20 65 60 M45x2 M42x2 107.8 RHZ35LMED 0V1213542
4 705 815 2 70 65 M52x2 M48x2 160.1 RHZ42LMED 0V1214248
315 385 1 19 19 M14x1.5 M12x1.5 70 RHZOBSMED 0V1260612
8 315 385 1 19 19 M16x1.5 M14x1.5 75 RHZO8SMED 0V1260814
10 38 455 12 % 2 M18x1.5 M16x1.5 123 RHZ10SMED 0V1261016
1 41 485 1 27 24 M20xL.5 M18x1.5 157 RHZ12SMED 0V1261218
14 435 515 14 2 2 M22x1.5 M20x1.5 214 RHZ14SMED 0V1261420
16 46 545 14 % 32 M24x1.5 M22x1.5 279 RHZ16SMED 0V1261622
20 50 605 16 50 41 M30x2 M27x2 487 RHZ20SMED 0V1262027
25 54.5 68 18 55 46 M36x2 M33x2 64.7 RHZ25SMED 0V1262533
30 64 715 20 60 60 M42x2 M42x2 1180 RHZ30SMED 0V1263042
38 715 875 2 70 65 M52x2 M48x2 166.9 RHZ38SMED 0V1263848

P.307



